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3112 M= KB 24 BB A2 £ E

No.#

10
11
12
13
14
15

16

—\

L P2 10C i F AT 2

B ox T o 5 (7 3~ 1 F 484

TS F PR DA BT LFEC IR
£ 1%:0.7g £ & 1 $+0.07ml -k +0.07ml * F+56uPVA(7.69wt.%)
RIFEFLA T A B 1802 0.2C 2 7 7] 140% SCO » 2 0.2C iE e 7 3] 0.95V » %
100% ~ 80% ~ 60 ~ 40%Fr 20% SCC F¥ » 12 10C % § 10 ) 3+ 5 &% 10 iz T # =

Power/W g'1
SOC/%

100% 80% 60% 40% 20%
1.48+0.13 1.3240.15 1.30£0.13  0.91+0.25  ----------- *
0.98+0.03 1.17#0.12 1.21£0.14  1.28+0.19  --—---——-- *
1.28+0.04 0.56x0.03 1.07+£0.001 0.86+0.06  ------------ *
0.84+0.34 0.56+0.08 0.76£0.30  0.62+0.17  ------------ *
1.93+0.08 1.68+0.13 1.86+£0.12  1.50+0.21  ------------- *
1.7940.02  1.42+0.11 1.91x0.07  1.70£0.02  --------m--- *
2.09£0.07 1.79+0.01 2.04+0.08 1.87+0.03  ----m--mee- *
0.88+0.02 0.54+0.15 0.50+0.31  ----------- o e *
1.03£0.10  0.57#0.12 1.09+£0.003 0.51£0.06 ~ ------------ *
1.30+£0.07 1.31x0.15 1.57#0.04  1.27#0.01  ---------—-- *
1.32+0.03  1.05£0.06 1.41£0.02  1.23+0.02  ---------—-- *
2.24+0.31 1.90+£0.36 1.90£0.43  0.78+0.02  ------------- *
1.574#0.02 1.51%x0.02 1.66+0.06  1.18+0.25  ------m-ommm- *
1.82+0.39 1.74+0.30 1.92+0.34  1.08+0.18  ------------- *
1.95+0.21 1.47#0.22 2.00£0.16  1.85+0.21  ---------m--- *
2.21+£0.20 1.81x0.32 2.31x0.31  2.16£0.29  -----m-omem- *
2.99+0.01 2.86+0.02 2.84+0.01  2.71£0.004  ------------- *

BB L 3 T4 FRENSEMBHLRL M
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53112082 F)MZ KBS 2 4 N BAMB AL & FE 2 10C

BRI RTH I (2~ 1 Fe)

THEA PRI T P R R
§18:0.7g £ & ( $+0.07ml -k+0.07ml * fE+56yPVA(7.69wt.%) °
BIRRAZA R 8 1 1512 02C A F F] 140% SCO » %12 0.2C i& b2 T 3] 0.95V »
100% ~ 80% » 60 ~ 40%f 20% SCC & » 11 10C %7 10 #) > 3+ & &5 10 fyprz 2 %

No.# Power/W g'1
SOC/%
100% 80% 60% 40% 20%

17 1.38+0.14 0.86+0.15 1.36+£0.14  1.17+0.16  ----—----—--- *
18 1.94+0.13  1.7940.07 1.94+£0.10  1.79+0.07 : ____________ s
19 1.90+£0.12  1.31+0.12 1.56£0.11  0.85£0.10 = ------------- *
20 1.79+£0.09 1.02+0.12 1.12#0.04  --------—-——- o - *
21 1.63+0.12  1.64+0.11 1.78+0.03  1.58+0.06  ------------- *
22 1.20+£0.03  1.15£0.06 1.41£0.07  1.1120.10  ----—----—--- *
23 1.44+0.14 1.48+0.07 1.60£0.02  1.34+0.08  ------------- *
24 0.65+0.09 0.73£0.06 0.97£0.04  0.67+0.01  ---------—--- *
25 1.36+0.12  0.92+0.08 1.26£0.04  0.73£0.07  ----—----—--- *
26 1.43+0.12 1.45+0.03 2.26+0.01 1.94+0.03  ----m-meee- *
27 1.85+0.07 1.81+0.05 2.13+0.21 1.90+0.18  ----mmmeme- *

LB L 374 40 *ASCEEEEHFE LKL W
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2311311z -kBEE LAV EHEMBL2 £FHE L H 0 10C @ F T

2B R P F G B

ThRex P EPEmL LA RTLFECIIR
£ 1%:0.7g £ & 1 $#+0.07ml -k +0.07ml * F+56uPVA(7.69wt.%)
RIFEFLA T A B 1802 0.2C 2 7 7] 140% SCO » 2 0.2C iE e 7 3] 0.95V » %
100% ~ 80% ~ 60 ~ 40%Fr 20% SCC F¥ » 12 10C % § 10 ) 3+ 5 &% 10 iz T # =

No.# Power/W g'1
100% 80% 60% 40% 20%

—————————— ¥ 1.48+0.13  1.32+0.15 1.30+0.13  0.91+0.25 e K
1 0.84+0.03 1.00+£0.11 1.04+0.12  1.09£0.17 -----m--m--- *
2 1.07+£0.03  0.47+£0.02  0.90+0.0 0.73£0.05 - *
3 0.71+£0.29 0.48+0.07 0.65£0.26  0.53#0.15 --------—--- *
4 1.60+£0.07 1.39+0.11 1.54+0.10  1.25#0.18 -----m-ommm-- *
5 1.59+0.02 1.27#0.10 1.70£0.06  1.52+0.02  ------------- *
6 1.87+#0.01 1.51x0.02 1.78+0.04  1.55#0.02  -----m-ommm-- *
7 0.80+0.01 0.49+0.14 0.46+£0.28  --------—-- o s *
8 0.98+0.10 0.54+0.11 1.03+0.003 0.49+0.05  ------------- *
9 1.20+£0.06 1.21£0.14 1.46£0.04  1.1720.01  -—-----m--- *
10 1.17420.03  0.93+0.06 1.25+0.02  1.09£0.02  --------mmm-- *
11 2.02+0.28 1.72¢0.32 1.71£0.39  0.71£0.01 - *
12 1.36+0.01 1.30+0.02 1.43+0.05 1.01+0.21 - *
13 1.47+£0.31 1.40+0.24 1.55+0.27  0.89+£0.14  -----mmommmm- *
14 1.66+0.18 1.25+#0.19 1.70+0.13 1.57£0.17 - *
15 1.88+0.17 1.54+0.27 1.97+#0.26  1.83+0.25  --—-----mmmm- *
16 2.53+0.01 2.42+0.02 2.40+0.004 2.28+0.004  --------m---- *

5 e 4 374k *AGCEEHSHF LKL V5
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531132 F)MZ KBS 2 4 BB B AL & FE 2 10C

No.#

17
18
19
20
21
22
23
24
25
26

27

WO T2 AR S FGE I )

THeE S Rt RS EE L F R IR
f12:0.7g £/ & i $#+0.07ml -k+0.07ml ? f%+56uPVA(7.69wt.%) °
PIRARR T 2 B 101512 0.2C % § 3] 140% SCO » ter 0.2C i 52§ 3 0.95V » fo
100% ~ 80% ~ 60 ~ 40%Fr 20% SCC F¥ » 12 10C % § 10 ) 3+ 5 &% 10 iz T # =

Power/W g'1
SOC/%

100% 80% 60% 40% 20%

1.19+40.12 0.744£0.13 1.17#0.12  1.01£0.14 - *
1.73+0.12  1.60£0.06  1.73£0.09  1.60£0.07  ---------—--- *
1.65+0.10 1.14+0.11 1.36£0.10  0.74+0.09  ---------m-- *
1.62+0.08 0.93+0.11 1.02+0.04  ---—----—--- I *
1.43+0.11  1.444£0.09 1.56£0.03  1.39£0.05  -----—-------- *
1.09+£0.03 1.05£0.05 1.28+0.06  1.01+0.09  ------m--mm- *
1.26+0.12  1.30£0.06 1.40+£0.02  1.17+0.07  ------m--—--- *
0.60+0.09 0.68+0.05 0.90+0.03  0.62+0.01  ------------- *
1.19+0.10 0.81+0.07 1.10£0.03  0.64+0.06 ~ ---------—--- *
1.26+0.10  1.28+0.03  1.99+0.01 1.71+£0.03  ----mmeee *
1.70+£0.06  1.66+0.05 1.96+0.20  1.75£0.16  ---------—--- *

B 4 374k *AGVEEHASHF LKL W
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%3-114= kBB 4 M FHEE B2 £/HT H 1 10CHE F 3% T 2

PR F L v s Ly(GY)E 2 & 2 82 2474

Source DF Anova SS Mean F Value Pr>F
Square
A 2 26.898 13.449 37.96 <.0001
B 2 8.094 4.046 11.42 0.0002
C 2 11.905 5.952 16.80 <.0001
E 2 13.670 6.834 19.29 <.0001
F 2 9.924 4.962 14.01 <.0001
D 2 15.508 7.754 21.89 <.0001
AB 4 32.075 8.019 22.63 <.0001
AC 4 36.145 9.036 25.50 <.0001
BC 4 33.192 8.298 23.42 <.0001
R*=0.9480

AF EPER B:F RER Ci2EiryF3 8

DipHE ERA#HER F4&4EL&HER
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33-115 = kBF 24 VB4 BHE2Z £FHE P 10C i F 2T

ZEEE R A F A RELL,BDE XL TR F|T A

B2 R

Duncan Grouping Mean Factor A
A* 2.7678 2
B* 1.3944 3
B>l<
B* 1.1717 1

£ 31162 kBB 2 £ (VB4 2 44 3 10C i# F T

2T A LT BEL LyG)E LA R %Y Fl+ BiS

EREARLS 3

Duncan Grouping Mean Factor B
A* 2.3245 1
B* 1.5333 2
B>l<
B* 1.4761 3
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231172 kBB A VB4 42 £ 51 10C & Fd
ZBF TP F v REL LyG)E AR %Y F1F Cis

B2 R

Duncan Grouping Mean Factor C
A* 2.4400 1
B* 1.4917 3
B %k
B* 1.4022 2

23182 kT A BBy £ BE 4 10CH F e
L AT A F v B2 Ly3)E 2 4 F %Y 713 Do

GEETS

Duncan Grouping Mean Factor D
A* 2.5161 2
B* 1.5578 3
B*
B* 1.2600 1
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2

2 3-119=-k#E B 24V EaEHABH2Z £ V502 10C 3 F 2 F
2B H I L v RE2 Ly3D)E 4P %Y 7|5 Es

B2 R

Duncan Grouping Mean Factor E
A* 2.4822 2
B* 1.5139 1
B>X<
B* 1.3378 3

[T
,‘w%{fﬁ

43120 = k8 2 A VB4 BEH2 £HE L0 10C @ F
ZEE R A F A REL LyGY)E 49 %Y 5 Fib

GRS L

Duncan Grouping Mean Factor F
A* 2.3823 3
B* 1.5183 2
B>l<
B* 1.4333 1
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23121 2 kBB R A EHEHE B2 £ KA P2 10C 3 F g
BT H I L e REs Ly3DE AP %Y 715 AB

EkiE 2 v R

Duncan Grouping Mean Factor A/B
A* 4.7983 2/1
B* 1.7650 2/3
B*

B* 1.7400 2/2
B*
B* 1.6800 3/3
B*
B* 1.6700 1/2
B*
B* 1.3133 3/1
B*
B* 1.1900 3/2
B*
B* 0.9833 1/3
B*
B* 0.8618 1/1
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3122 = k#E A B4ELHBEH2 £FHE L2 10C @ F
ZEEERT A F LA v REL LyG)E £ F %Y F]F AC

EkiE 2 v R

Duncan Grouping Mean Factor A/C
A * 5.0650 2/1
B* 1.7100 2/3
B*

B* 1.5283 272
B*
B* 1.4717 3/3
B*
B* 1.4667 3/2
B*
B* 1.2935 1/3
B*
B* 1.2450 3/1
B*
B* 1.2117 1/2
B*
B* 1.0100 1/1
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3123 =2k E AV B4ELHBEH2 G L2 10C @ F e
ZEEF R A F A v RiEL Ly3)E £ F 5% 53 BC

EkiE 2 v R

Duncan Grouping Mean Factor B/C
A ¥ 4.548 1/1
B* 1.713 3/3
B*

B* 1.597 2/2
B*
B* 1.547 2/3
B*
B* 1.457 2/1
B*
B* 1.400 372
B*
B* 1.315 3/1
B*
B* 1.215 1/3
B*
B* 1.210 12
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5 level of factor C
—— 2 4
47 —— 3

Utilization/%
w

2 -

] _

0 [ 1 1 1 1 1 ]
0.5 1.0 1.5 2.0 2.5 3.0 3.5

level of factor A

B13-66 1= k#E 22 FoepaL £ha 41 10CE F =
ZEERTHF L REL LyG)E 2 & %7 F5 7

FABFF CLAT E BAR
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B13-67 1= kHE 2 FHHEBHL £Ha 1 10CE F T
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y = 1.89444 — 0.37167A% — 0.19B? — 0.1667F? + 0.1BC
[0.200] [0.161] [O.161] [0.161] [O.113]
+0.11167A + 0.13222B + 0.08111C + 0.14722D
[0.0923] [0.0923]  [0.0923] [0.0923]
—0.08833E — 0.08F (3-14)
[0.0923] [0.0923]

A 3-124 5 M FRZ %S 2474 0 B3 DOEfr FRRE © R/
sa 2

/AFQEIF’”F&;'Z"G‘]LLLF‘IKI—]'*D av ok FF B ad ki

Fefdk#CsAD:0ESO0F5 14 (14 #3515 (415)

y = 1.64774 — 0.37167A% — 0.19B? + 0.1BC + 0.11167A +
0.13222B + 0.08111C (4-15)

BELE A-BIrCas 8 MRAG-15)iEw b 5 > A6 &

W

o+ 5 Bl 3-68 TRl 3-70 ¢ °dl§%5]3—68?f§:",’?.‘f,"1Aé“§tE5’
BRAwREFLNAZOLF A BirCRliadsar e g RE
B 3-69 2 2%PETEFBES > PRETH S ¥ v RBER
FABLAGP KRS C LB REZ e B8 B 3-704 0 2 A IR
v R B Kﬁ%“cqﬁg%cmi\aﬁ ’A'frBE' |32/ 3F v R 3 o j§

MR e, AFS R AT KBS BAIAG P KB C hF

KA D f? kBB A KD F AR KERE T by i -
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% 3-124 4 3-113 29 Sy~ 172 %> » 7 %

Source DF
Model 10
Error 16

Corrected 26
Total

R’=0.5143

Sum of Mean
square square

2.63543  0.26354

248903  0.15556

5.12447
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F
Value

1.69

Pr>F

0.1674
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L BkE pHE AR KB BRAT RGP RE 4L H

é‘—‘:g ’](l’g"‘é; A\*%Q’%% ]?Iﬁ_,'\ “'KAV\ m-ﬁ};ﬁl,* ll‘*K{&"ﬁ:IF ? 7](23_ ,
F AR AL kR e E o BT HE R §

Br 7 EBLOBITFEIHFT U ETHEERr 2 EELEERE

281



